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Q1) (4 marks) Determine R, in the following circuit.
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(0 marks) Use superposition principle to find I, in the Jollowing circuit. Show all your work’s details
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a) Find Vi seen by the load R {
. ) FindIyseen by the load R, ~>*=¢la,

( - ¢ Determine Ry, to get maximum power transferred.
" d) Calculate P
= /) ngx—*ﬁ

+ (7 marks) For the following circuit: /// i

——a T
A — \Vj 1 2500 0
2% = x
' 1
- ]
5

*

LY > r \:)l {
{‘H\‘)_‘. R ST ‘(\%)\Q /2//;
V»W_ ¢ ’i\...":".fi\

\ \
\ m, G 0o
Ry -




S S

3 — ., v = L_‘-“—\ T
+) (4 marks) Writé@quaﬁons Jor the following circuit. (Don’t solve the@gro-difﬁ:remial equation)
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